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QUESTION 1

Arrange the following steps for converting from DNS to GNS in the proper order: 

1. 

Start GNS. 

2. 

Configure GNS resource. 

3. 

Update database endpoint 

4. 

Remove static addresses so only dynamic addresses are used. 

5. 

Change the CRS resource to support mixed mode. 

6. 

Modify the registered SCAN. 

A. 1, 2, 3, 4, 5, 6 

B. 6, 5, 4, 3, 2, 1 

C. 2, 1, 5, 6, 3, 4 

D. 4, 3, 6, 5, 1, 2 

Correct Answer: C 

 

QUESTION 2

Identify three stages of recovery of Oracle RAC Database 12cR1, which can be done in parallel with RMAN\\'s
RESTORE and RECOVER commands 

A. Applying archived redo logs 

B. Applying redo log files 

C. Applying incremental backups 

D. Restoring data files 

E. Restoring SPFILE 
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Correct Answer: ACD 

 

QUESTION 3

Which statement about the AU_SIZE disk group attribute is incorrect? 

A. It specifies the size of the allocation unit for a disk group. 

B. It can be changed at any time for any disk group. 

C. You can view the value of this attribute in the ALLOCATION_UNIT_SIZE column of the V$ASM_DISKGROUP view 

D. The default size is 1 MB. 

Correct Answer: B 

 

QUESTION 4

Which two statements about the Grid Infrastructure Management Repository are correct? 

A. It is a single instance database that is managed by Oracle Clusterware. 

B. It is where the Cluster Health Monitor places data. 

C. It is created during a \\'\\'Typical" installation. 

D. It is stored in the ASM disk group that is used as a Fast Recovery Area. 

Correct Answer: BC 

 

QUESTION 5

Which two statements about server pools are correct? 

A. Server pools logically apportion a cluster into groups of servers offering database or application services 

B. MAX_SIZE and importance are valid server pool attributes, 

C. You can configure each server pool with a maximum size. The minimum size cannot be configured. 

D. Oracle Clusterware manages availability between server pools automatically. It cannot be manually configured. 

E. Servers are assigned to server pools by name 

Correct Answer: AD 
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